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Solution:
Vg =07V 9V =07V

Eq.(10.1): Iy = ~25mA
q-(10.D: L Re 33kQ m
The collector current is then
Iy 25mA
Eq.(102: Ic= 7= 2m — 125mA

resulting in a collector voltage of

Eq.(10.3): Vo= Ve — IcRc =9V — (125mA)3.9kQ) = 4.1V
The common-emitter voltage is thus —0.7 V. whereas the collector bias voltage is near 4.1 V
for both outputs.




image3.png
+9V

§47kﬂ riy=riy =20kQ
B =B,=T5





image4.png
Solution: The dc bias calculations provide
Ve =07V 9V -07V

I, = 193 uA
£ Re FEFR) e
The collector dc current is then
I,
Ic = EE — 065 uA
so that Ve =Vee — IcRc = 9V — (96.5 pA)4TkQ) = 45V
The value of r, is then
26

= 269 O

Te

= 0.0965
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The ac voltage gain magnitude can be calculated using Eq. (10.31):
A= Rc _ W kQ)
Y 2r, 20269 Q)
providing an output ac voltage of magnitude

V,=AV; = @874)2mV) = 1748 mV = 0.175V

=874




